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Class — X / shaIT— X

Time allowed: 3 hours Maximum Marks: 80

iR w99 : 3 goe AP 3P : 80

General Instructions:

(vi)

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1-16 are Multiple Choice Questions (MCQ). Each
question carries one mark.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these
qguestions should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these
qguestions should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After
completion, attach the map inside your answer book.
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1. Why did the wheat price in India fall down by 50 per cent between 1928 and 1934 ?

(@)
©)

Due to less production. (b)  Due to floods.
Due to Great Depression. (d) Due to droughts.
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1928 § 1934 3 =, WRA § 7 F1 Fwa 50% aF Tl AR T 2 B GBS Eide com

() ¥ IHE & HRU| (b) G % HR|

(c) wEmal % HRIT| (d) ¥@ % FR
OR

When did the earliest factories come up in England ?

(a) in1720s (b)  in1730s

(c) in1740s (d) in1750s

roie H Ted Ugell hIREI el TIfud gt ?

(a) 1720 % <IF H (b) 1730 % <3 H

(c) 1740 % <= H d) 1750 % <316 H
OR

The very first section of the underground railway in the world opened on 10th January 1863
between which two stations?

(a) Farrington street to Bakers Station

(b) Paddington Street to Farrington Street
(c) Paddington Street to Bakers Station
(d) None of the above

10 STeR 1863 < fored =it Yo ffHTa Y& o1 9gel W€ fohd &1 TR o o= Iy gt ?
(a) e €ie ¥ 9 wIH

(b) fET e § Hfrer e

() Ufe™ e ¥ g =eH

(d) SHEH Y BE T

Which one of the following is the first that conquered America ?

(@) The French (b) The English
(c) The Spanish (d) The Germans
et # | fohe il veet STt W T uiwt =i ?
@ i (b) S
() @b (d) S
OR
Industrial revolution refers to :
(@) Mass Production by factories (b) Collection of raw material
(c)  Process of Raw material (d) None of these
SArenfiTen hifd o1 31ef ©
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(a) el BRI 9RY 3ee (b) T TS I THA BAT Ay CBSEide com
(c) =l T I THERT (d) ST H FE TE

OR
A variety of steps were taken to clean up which one of the following cities.

(@) Chicago (b) Berlin
() New York (d) London

frafafea o 9 forg TR 1 99E & faU 2% ey 33w ?

(a) Frem (b) fet
() =T (d) e
“Printing is the ultimate gift of God and the greatest one”-who spoke these words ?
(@) Johann Gutenberg (b) New Comen
() Mahatma Gandhi (d) Martin Luther
“ g SYeR i S gE HeHAH o €, i Ted gl dewr’ -9 Vg TR #e ?
() TR T (b) = HEA
(c)  wETeeT e (d) = R
OR

Who among the following is the author of the novel “‘Mayor of Casterbridge’?
(@) R L.Stevenson (b) Thomas Hardy

(c)  Charles Dickens (d) Leo Tolstoy

‘TR AT el e ST I O i § 2

(a) STRUA. T (b) oT9H Tl

() ey feh (d) forll TR

Which one of the following statements is ture in the light of Vernacular Press Act 1878 ?

(@) It gave freedom to press

(b) It gave financial assistance to press

(c) It provided rights to government to censor reports and editorials in the Vernacular press.
(d) None of the above

IFHR 9 TH 1878 i ¥ ¥ f=fofad # & ®F o1 %o 9 ©72

(a) TH7 UH HI TAAA Y& i

(b) TE UH I AMeE TR UM i

() 3HY TR HI apex 98 H S Rufel o) arueental Sl S8 H I TR U gal
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() IR H G FE & nsrideen
OR
Who among the following did write about the dark side of colonialism?

(@) Daniel Defoe (b) Joseph Conrad
(c)  Rudyard Kipling (d) None of above

freferfed § | fra Sufeerene o+ e 9al s an | foran ?
@) e em (b) ST HEE
() Yeare femufer (d) W H BE T

Land degradation in Punjab is mainly due to:
(@) Excessive cultivation (b) Overgrazing

(c)  Over-irrigation (d) Deforestation

uotrel B 9fF % Rt 1 qea RO | 2
(@) fereh Gt (b)  eAfereR =g
() At f=ms (d) STl wR

Which one of the following is the example of endemic species ?

(@) Asiatic elephant (b) Gangetic dolphin
(c) Mithun (d) Asiatic cheetah
frefafad § &t wenfa wenfe g 1 S8 8 2

(a) URmEE T (b) T AT R Sl
() e (d) TR <

On which of the following rivers is Koyena dam built?

(@) Krishna (b) Kaveri

(c) Ganga (d) Mahanadi
Fretfofiga # & form 78 W e sty fififa &2

(@) F (b) T

() T (d) e

Which of the following is a leguminous crop?

(@) Pulses (b) Cotton
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10.

11.

12.

A Complete guide for CBSE studemuts

(C) J owar (d) Maize |@ myCBSEguide.com

frefefaa § 4 S wHd BEler § 72
(a) T (b) HIH
() SR (d) R

Division of powers between higher and lower levels of government is called :

(@) horizontal distribution (b) parallel distribution

(c) verticle division (d) diagonal division

SR SR FTA R 1 9RR] Feia Gl 3 a1 FEd § ?
(a) s ferereom (b) TER foaeo

() AR faawo (d) IO faawor

Power sharing is desirable because it helps :
(@) To increase pressure on Govt.

(b) To reduce possibilities of conflicts

(c) To generate awareness among people
(d) To increase percentage of voters

T H HRER B e iR 97 T ©
() HEHR T EIE dgH H
OIELEIREE R

(c) N H SAT&ehdl o H

(d) =l i Fiasrad sgH |

Choose the correct statement regarding language policy of the Indian Government :
(@) English is our national language.

(b) Citizens are free to choose any language as national language.

(c) Hindi is our national language.

(d) Constitution of India did not declare any language as national language.

IR THR h1 A1 i & Grare o fr=feiad § 9 wF 91 97 99 72
(a) o SIS FAR TP T |

(b) IR RIE off o7 BT TPATH F T H T Tohd &

() o et TN TF 91w §

(d) 9RA % Hfaum 3 fRet T 9Ten 1 T AT 7 <t AR e

A person who does not discriminate others on the basis of religious beliefs is called :

(@) Communalist (b)  Secular

(c) Casteist (d) Feminist

¥ & STHR T 9T 9 7 i a1 AT 1 1 Hel S & 2
(a) HESIHH (b) wHRUE
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13.

14.

15.

16.

17.

(c) fcarel (d) TR Ry CBSEguide. com:

Development of a country can generally be determined by :

(@) per capita income (b) average literacy level rate
(c) Health status of its people (d) None of the above

foret <=1 o forerm % fERor A1 SATe WTEmoR 811 2 2

() ufd AT 3T (b)  SATEd HERAT
(c) NI o1 T TR (d) ST H 9 HE T8

Which of the following states of India has low literacy rate ?

(@) Punjab (b) Bihar

(c) Kerala (d) Tamil Nadu
frfafad & | ford T 1 HeRar o T8 w9 87

(@) dS (b) fo=R

() (d) dfETg
Which one of the following was the largest producing sector in 1973 ?
(@) Secondary (b) Tertiary

(c) Primary (d) All the above
1973 H HH-T1 Y& TSl SATSH &5k o1 7

() Todrr (b) TR

(c) wafew (d) ST g+t

When was NREGA implemented ?
(@) 2003 (b) 2004
(c) 2005 (d) 2006

TS YTHTOT YSATR TRET SAfYaH (NREGA) sl AR g1 ?

(@) 2003 (b) 2004

(c) 2005 (d) 2006

Why did the European employers find it difficult to recruit labour in Africa ? Explain two
methods they used to recruit and retain labour.

JUde frriiersti w1 eTohieRt H HIgll I o S H s il g8 2 TSI Wl i i 3% 3T ™
Uk TG o T 37 I FART fohe 71T <1 ekl <kt Tove RIfST |

OR
Why did women workers in Britain attack the spinning Jenny ? Give any three reasons.

fore =t Afee SR = foaf S iAW g9 =il fopn 2 hig o9 ror S|
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18.

19.

20.

21.

22.

23.

24.

&2 ) CBSFguide.
OR Ltk
Explain any three reasons “The population of London city expanded during the nineteeth
century.”

T RO T FR T HifT foh, 19 f Tt F SRE o< I8 St SHHe ° Fiw gfg ge 2’

Give examples to show that printing promoted social reform.
IeTeRvT T qunied T o (fifdm) = wmfser gemi o6 seren fean |

OR
Explain the reasons for the popularity of novels in India and outside world ?

a3 faeer § U=l 1 AhRiadr & Rl &l AR Hifed |

What new innovations did printers and publishers develop to sell their product?
Heehi 3TR YehITehT A 79 S ol 9= & ot S & 73 9l foefaa e ?

OR

Trace the changes in technology and society which led to an increase in the readers of the novels
in 18th century Europe.

Tehien 3R TS H 3T 37 deamdl o aR # Jaey e = 18 df wal & J9 H U= e Al
* G& H g g

How did the conservatives Hindus and Muslims react to the idea of literacy among girls ?

FefRdl § Faidl o gfd qeaRrene] fEgsll qen qaoaHl | fg geRR ot gfafshart sifyyerer i ?

OR

Describe any three popular themes on which women writers in England wrote in the 19th
century.

forel T I clies o Tl &1 foramor SifSw f59 W 1940 T} # i< skt aiffgeneii 3 fomn|

Distinguish between Khadar and bangar soils.

et 3R 9T ge1 | 9 ST |

Explain three reasons why we need to save the biodiversity of our planet ?

T HROT T T RIS TR &H 707 g i Sta fafaerdr sl griaa e sl Tawaehdl i § 2

Why is groundwater a highly overused resource ?

fHTd ST Tk STeNfosh WErT SRaTel S99 #4182

Why Sri Lankan Tamils felt alienated
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

o . e . F= yCBSEguide.
AT afred 3 SO 1 A9 = foran 2 A S Eeide o

Describe three factors that determine the outcome of politics of social divisions.

qrTsteh fauTe i TsHIfa o aRomE! @1 feior e aret foR=i 9 el o1 Ui Shifig |

Explain briefly the Civil Rights Movement which took place in the U.S.A. between 1954 and 1968.
1954 3R 1968 % &= TYK WA STHAHT H TH ATe! AN AfIFHR Tcler i Giara H =amen Hifse |

Explain any three forms of communal politics with example.

ITELUT o T IS geh TSTiTd o Tl i &4 ohl faeror S |

What is per capita income ? How is it calculated ?

Tiq SAfad 279 1 BT € 2 SHeh! TOMT fohd YehR hi STl & 2

Distinguish between economic development and human development.

aTifYfen faeme wd A fashm § 2 T shifau |

Highlight any three differences between intermediate goods and final goods ?
Al aegel ad SAfqH aEgeli § Sd T weawnt fohgl diF forgsi &l SR hifsg |

Why has the government taken up the responsibility of public sector activities in a country like
India? Explain any three reasons.

YRA ST e H Hresiieh &5k i i@l shl TR g1 319 el § WA % Rl i hRol i
SRS hifIT |

Explain how did the abolition of corn laws in Britain lead to the emergence of a global
agricultural economy ?

e Hifay o fh9 9 fore § & @f st amify 3 Afvas St sreferazen &1 s faan?
OR

‘Industrialization in India was a mixed blessing’ Justify the statement.

“ara H TR Uk fafsa arem o weH % fau =mifea a& <ifea
OR

Compare London and Bombay as modern cities.

A TR TS i A TIeT & T § o hiferd |

Write the geographical conditions required for the cultivation of rice and tea.

el TaH 91 & Wl < fae staas sriifas <ensti 1 fafem

What features make India a Federation?
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35.

36.

36B.

'Ohﬁ? @‘ T&TUT YR E"ﬁ ‘QEF Ffa EFFI%T % ? i@?!tj’CBSEL{fruﬂc’.com

A Complete guide for CBSE studemuts

Mention any four advantages of working in an organised sectors.

HUf3d &5 | hH L & fhgl IR 4l 1 Sl Shifsd |

Three features with serial Number 1 to 3 are marked on the given political outline map of India.
Identify these features with the help of the following information and write their correct names on
the lines marked in the map.

(1) Soil type

(2) Aforesttype

(3) The leading tea producing state.

few TTu YR o TeHIfdes Tan qHfes W hdie 1 9 3 W i1 ey fafed fee o €)1 fefafed S
! TS | T AT ] YA X AT W iR W@l W 1% wet W fafay |

(1) "I RIHRR

(2) o T FHR

(3) =M <kl Y&H 3IcUIGh A

OR
Locate and label the following on the given outline political map of India.
(@) Arice producing state of Western coastal state.
(b) Manas Tiger Reserve
(c) Nagarjuna Sagar Dam.

frfafaa = wra & fu U aeHfaes W Aafas W S
(a) ul¥eEl TG 9T B Th =1ed Scdigeh 9

(b) #E wre R

(c) IS |FR sy

The following question is for the visually impaired candidates only in lieu of
Map Q. No. 36

(I)  Write the names of two states where black soil is found.

(I) In which state is manas Tiger Reserve located ?

(III)  In which state is Nagarjuna Sagar Dam situated ?

Frrferiaa womt et gfy afem wienfiat & for wo e 36 & W W
1) Tz < Toat 1w ford STt el ger ot S ¥

(1) =g = e fora T o feem €72

() TSI WR st e o o feoa &2
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